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Part B any 5 (5X4 = 20)

2 }) - Explain your understanding of MSMQ? i
22.“MSMQ can send and receive messages as a transaction” Justify
33. Compare and contrast Transfer Object and Session Fagade ~

24. Draw the J2EE container architecture diagram.

25. State the purpose of an Enterprise Java Bean (EJB
26. What are the limitations of UDDI?
27. Write a sample code snippet to enable

) home interface.

communication between SOAP nodes

Part C (5X12 = 60)

2%.a. A typical message queuing scenario achieves reliable asynchronous messaging between 2
client computer and a server application. The client application might be an order application
that is used for entering orders from customers. This application could be installed on a laptop

computer, the laptop moving with the salesperson from customer site to customer site.
Connectivity might not ‘oe available from every customer site to the head office. When
connectivity is unavailable, the order application on the salesperson's laptop computer would use
message queuing to queue messages that contain order information to a local outgoing queue on

the laptop computer. Suggest a window based component and a sample code
Or

b. Explain how transactions and MSMQ fit together? Explain with sample code.

29. a. Discuss in detail about Composite view design pattern
[hint: pattern should include problem, forces, entities and solutions]
Or

b. Discuss in details about Front controller design pattern
" [hint: pattern should include problem, forces, entities and solutions}

30. a. How many types of messaging model do JMS provide for and what are they? Explain with

suitable diagram.
Or

b. i) What container does? List the responsibility and services provided by container. (6)
ii) With neat diagram explain EJB Container Architecture. (6)
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Part A st
L. are good for inter-application communication across servers
a.  Message
b. Public Queue
C. Private Queue
d. Components

i 2. Filling the contents of the messages, is the step involved in
a. MSMQ transaction b MSMQ receiver c. MSMQ Events

d. MSMQ transmittal

3. Message queuing provides i
a.Guaranteed message delivery, efficient routing, security and prionty based messaging

b.Only message delivery
c. only routing
d. only security and priority based.

4.MSMQ messages are limited to ___ of data
a. 4KB b.4MB c.8MB d. 2MB

5.MSMQis a messaging system.
Component-Oriented.

a.
b. Container-Oriented.
¢. Compound — Oriented
d. Centralized Server Oriented.
. 6. pattern used for activating enterprise beans and other business services asynchronously
a. data access object ¢. service activator.
b. Fast lane reader d. service locator

7. which pattern is most appropriate when a decision must be made at the time a class is instantiated?
a.bridge b.composite  c¢. Factory method d.command

8. Which of the following is true about design patterns?
a. Design patterns represent the best practices used by experienced object-oriented software

developers.
b.Design patterns are solutions to general problems that software developers faced during software

~ development.
" ¢.Design patterns are obtained by trial and error by numerous software developers over quite a

substantial period of time.
d. All of the above.
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15. Which session bean maintain their state be
their state across server crashes or shutdowns?

a. S_raf.eful Session Bean b. Stateless Session Bean
c. Singleton Session Bean d. None of the above

16. SOAPis a
4. programming language
b. a business application component
C. a poriable communication protocol
d. software
17. is a combination of the Web browser and Java Plug-in running together on the client
machine
a. Web Container
b. Applet Container
¢. Applet Client Container
d. EJB Container
18. Which of the following is correct about UDDI?
a.UDDI is an XML-based standard for describing, publiship : .
b.UDD! is a specification for a distributed Tegistry I())f web s e%;?éi ﬁndmg Wweb Services,
c. UDDI is platform independent, open framework. )

d. All of the above
19. web services use to code and to decode data,

a. UDDI b.JSON c.XML d.SOAP
20. which among the following is not included in anatomy of SOApP messages
b.header c. body d. port type ‘

a. envelope



